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Questions

What is correct about tendons?

The disorders in which there is an accumulation of uric acid in joints:

All these are the parts of axial skeleton of humans except:

Find the ball-and -socket joint:

Vocal cards are present in:

The type of arthritis in which the joints become totally immoveable:

Arthritus means:

It is not a disorder of skeletal muscle:

Appendicular skeleton is composed of:

The bands of connective tissue which prevent dislocation of bones at joints are:

The bonds which attach muscles to bones are called:

The example of fixed joints is:

Answers Choice

A. Tendons are flexible and they join
muscles with bones.

B. Tendons are non-elastic and they
join bones with bones.

C. Tendons are non-elastic and they
join muscles with bones.

D. Tendons are flexible and they join
muscles with muscles.

A. Gout

B. Rheumatoid arthritis
C. Osteoporosis

D. Osteoarthritis

A. Ribs

B. Sternum

C. Shoulder girdle
D. Vertebral column

A. Joint in the finger bones.

B. Joint of neck and skull bones.
C. Joint at elbow

D. Joint at pelvic girdle and leg
bones.

. Nasal cavity
. Pharynx
Larynx
Trachea

. osteo-arthritis
gout
rheumatoid
none of these

fracture

. inflammation

. crystallization

. deficiency of calcium

arthritis
osteoporosis
tatney

. osteo-arthritis

120 bones
122 bones
124 bones
126 bones

. ligaments
tendons

. cartilage
. muscles

. ligaments
. tendons

. cartilage
. muscles
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A. joints between skull bones
B. joints between vertebrae
C. shoulder joints

D. knee joints



